

vanish. Hence  $C_0 = I_{n_0}$ . Since the columns of  $D_0$  are orthogonal to the columns of  $T$ , it follows that  $n_0$  rows of  $T$  vanish and the proof is complete.

We have already remarked that, in the case of quadratic forms  $Q$  associated with  $p$ -blocks of positive defect of finite groups, no row of the matrix  $T$  can vanish. Hence  $Q$  cannot represent a form  $Q_0$  of determinant 1. In particular,  $Q$  cannot represent the number 1.

#### References

- [1] R. Brauer, *On blocks of representations of finite groups*, Proc. Nat. Acad. Sci. 47 (1961), pp. 1888-1890.  
 [2] — *Zur Darstellungstheorie der Gruppen endlicher Ordnung I*, Math. Zeitschr. 63 (1956), pp. 25-46.  
 [3] — and W. Feit, *On the number of irreducible characters of finite groups in a given block*, Proc. Nat. Acad. Sci. 45 (1959), pp. 361-365.

HARVARD UNIVERSITY

Reçu par la Rédaction le 17. 1. 1964

## On Epstein's zeta function

by

P. T. BATEMAN (Urbana, Ill.) and E. GROSSWALD (Philadelphia, Pa.)\*

*Dedicated to Professor L. J. Mordell  
on the occasion of his seventy-fifth birthday*

**§ 1. Introduction and statement of results.** The purpose of this paper is to give detailed proofs of two theorems on the Epstein zeta function which were announced without proof by S. Chowla and A. Selberg about fifteen years ago [1]. The two results which they announced are our Theorem 1 and a slightly weaker form of our Theorem 3. Our Theorem 2 was not stated explicitly by Chowla and Selberg in their paper, but they did indicate that they were in possession of a result of the same nature as our Theorem 2, that is, one giving a good approximation to the Epstein zeta function in the critical strip, particularly on or near the real line.

Throughout this paper  $a, b$ , and  $c$  will denote real numbers with  $a > 0$  and  $d = b^2 - 4ac < 0$ , so that  $am^2 + bmn + cn^2$  is a positive definite quadratic form. The Epstein zeta function associated with this form is given by

$$(1) \quad Z(s) = \frac{1}{2} \sum' (am^2 + bmn + cn^2)^{-s} \quad (\text{Re } s > 1),$$

where the stroke on the sign of summation indicates that the summation is to be extended over all pairs  $(m, n)$  of integers other than the pair  $(0, 0)$ . It will be convenient to define a positive number  $k$  by putting

$$k^2 = \frac{|d|}{4a^2} = \frac{4ac - b^2}{4a^2} = \frac{c}{a} - \left(\frac{b}{2a}\right)^2.$$

As usual  $\zeta$  will denote the Riemann zeta function. We shall also require the Bessel function defined for arbitrary  $\nu$  and  $|\arg z| < \pi/2$  by

$$(2) \quad K_\nu(z) = \frac{1}{2} \int_0^\infty e^{-z(u+u^{-1})/2} u^{\nu-1} du = \frac{1}{2} \int_{-\infty}^\infty e^{-z \cosh t} e^{\nu t} dt = \int_0^\infty e^{-z \cosh t} \cosh \nu t dt.$$

\* This work was supported by the U. S. Office of Naval Research and by the National Science Foundation.

Finally for arbitrary  $\nu$  and positive integral  $n$  we write

$$\sigma_\nu(n) = \sum_{d|n} d^\nu = \sum_{d|n} (n/d)^\nu.$$

We shall prove the following theorems.

THEOREM 1. When  $\text{Re } s > 1$  we have

$$(3) \quad a^s Z(s) = \zeta(2s) + k^{1-2s} \zeta(2s-1) \frac{\Gamma(s-\frac{1}{2})\Gamma(\frac{1}{2})}{\Gamma(s)} + \frac{\pi^s}{\Gamma(s)} k^{1/2-s} H(s),$$

where

$$(4) \quad H(s) = 4 \sum_{n=1}^{\infty} n^{s-1/2} \sigma_{1-2s}(n) \cos(n\pi b/a) K_{s-1/2}(2\pi kn).$$

Further  $H(s)$  is an entire function of  $s$  such that

$$H(s) = H(1-s).$$

The identity (3) provides the analytic continuation of  $Z(s)$ . In fact, since the sum of the first two terms on the right-hand side of (3) has a removable singularity at  $s = 1/2$ , a simple pole at  $s = 1$  with residue  $\pi/(2k)$ , and no other finite singularities, it follows that  $Z(s)$  has a continuation into the entire finite plane except for a simple pole at  $s = 1$  with residue  $\pi/(2ka) = \pi/|d|^{1/2}$ . If we apply the functional equation for the Riemann zeta function to the second term on the right-hand side of (3), the formula (3) may be written

$$(5) \quad (ak/\pi)^s \Gamma(s) Z(s) = (k/\pi)^s \Gamma(s) \zeta(2s) + (k/\pi)^{1-s} \Gamma(1-s) \zeta(2-2s) + k^{1/2} H(s).$$

Thus, if we put for the moment

$$\varphi(s) = (ak/\pi)^s \Gamma(s) Z(s) = |d|^{s/2} (2\pi)^{-s} \Gamma(s) Z(s),$$

we see that the Epstein zeta function satisfies the functional equation

$$(6) \quad \varphi(s) = \varphi(1-s).$$

Many proofs of the continuability of  $Z(s)$  and of the functional equation (6) are known, and accordingly a variety of other formulas for  $H(s)$  are known (cf. [2], [3], [4], [6], [7]). However, the formula (4) given here is particularly good for estimating  $H(s)$  on or near the segment  $(0, 1)$  of the real line.

THEOREM 2. If  $\frac{1}{2} \leq \sigma = \text{Re } s \leq 1$ , we have

$$(7) \quad H(s) = 4 \cos(\pi b/a) K_{s-1/2}(2\pi k) + \theta \frac{2\Gamma(\sigma)}{k^{1/2} |\Gamma(s)|} \sum_{n=2}^{\infty} \sigma_{-1}(n) e^{-2\pi kn},$$

where  $|\theta| \leq 1$ , or more crudely

$$(8) \quad |H(s)| < \frac{\Gamma(\sigma)}{|\Gamma(s)|} \left\{ \frac{2e^{-2\pi k}}{k^{1/2}} + \frac{3e^{-4\pi k}}{k^{1/2}(1-e^{-2\pi k})^2} \right\}.$$

Since  $H(1-s) = H(s)$ , the estimates in Theorem 2 imply estimates for  $0 \leq \sigma \leq \frac{1}{2}$  as well.

THEOREM 3. If  $k \geq \sqrt{3}/2$ , then

$$(9) \quad a^{1/2} Z(\frac{1}{2}) = \gamma + \log k - \log 4\pi + 2\theta k^{-1/2} e^{-2\pi k},$$

where  $\gamma$  is Euler's constant and  $-1 < \theta < 1$ . Thus

$$(10) \quad Z(\frac{1}{2}) > 0 \quad \text{if} \quad k \geq 7.0556$$

(that is, if  $k^2 \geq 49.79$  or if  $4k^2 = |d|/a^2 \geq 199.2$ ), but

$$(11) \quad Z(\frac{1}{2}) < 0 \quad \text{if} \quad \sqrt{3}/2 \leq k \leq 7.0554$$

(that is, if  $3/4 \leq k^2 \leq 49.77$  or if  $3 \leq 4k^2 = |d|/a^2 \leq 199.1$ ).

The inequality  $k \geq \sqrt{3}/2$  is not particularly crucial. Some positive lower bound on  $k$  must be assumed in order to avoid degenerate cases. The inequality  $k \geq \sqrt{3}/2$  is certainly fulfilled if  $a$  is the minimum of the quadratic form  $am^2 + bmn + cn^2$  for integral values of  $m$  and  $n$  not both zero, in particular, if the form is reduced in the sense that  $|b| \leq a \leq c$ .

Since  $Z(s)$  approaches  $-\infty$  when  $s$  approaches 1 from below, it follows from Theorem 3 that  $Z(s)$  vanishes in  $(\frac{1}{2}, 1)$  if  $k \geq 7.0556$ . On the other hand, it is probable that  $Z(s)$  is negative throughout  $(0, 1)$  if  $k \leq 7.0554$ , but this would require a more detailed numerical analysis than that needed to prove Theorem 3. If  $Z(s)$  is actually negative throughout  $(0, 1)$  for all  $k$  between  $\sqrt{3}/2$  and 7.0554 inclusive, it would follow by superposition that the Dedekind zeta function of any imaginary quadratic field with discriminant between  $-3$  and  $-199$  inclusive is negative throughout  $(0, 1)$  and so has no zeros there. This last assertion has in fact been proved by Rosser [8], [9] in another way.

## § 2. Necessary lemmas.

LEMMA 1. If  $\text{Re } \nu > -\frac{1}{2}$  and  $|\arg z| < \pi/2$ , we have the following alternative expressions for the Bessel function defined by (2):

$$(12) \quad K_\nu(z) = \frac{\Gamma(\nu + \frac{1}{2})(2z)^\nu}{\Gamma(\frac{1}{2})} \int_0^\infty \frac{\cos u \, du}{(u^2 + z^2)^{\nu+1/2}},$$

$$(13) \quad K_\nu(z) = \frac{\Gamma(\frac{1}{2})}{\Gamma(\nu + \frac{1}{2})} \left(\frac{z}{2}\right)^\nu \int_1^\infty e^{-zu} (u^2 - 1)^{\nu-1/2} du.$$

For proofs of these formulas see [5], pp. 50-52 or [10], pp. 185-187.

LEMMA 2. If  $\operatorname{Re} \nu \geq 0$  and  $z$  is positive, then

$$|K_{-\nu}(z)| = |K_{\nu}(z)| \leq e^{-z} \left( \frac{\pi}{2z} \right)^{1/2} \sum_{j=0}^r \binom{r}{j} \frac{\Gamma(\operatorname{Re} \nu + \frac{1}{2} + j)}{|\Gamma(\nu + \frac{1}{2})|} \cdot \frac{1}{(2z)^j},$$

where  $r$  is any non-negative integer not less than  $\operatorname{Re} \nu - \frac{1}{2}$ . In particular, if  $0 \leq \operatorname{Re} \nu \leq \frac{1}{2}$ , then

$$|K_{-\nu}(z)| = |K_{\nu}(z)| \leq e^{-z} \left( \frac{\pi}{2z} \right)^{1/2} \frac{\Gamma(\operatorname{Re} \nu + \frac{1}{2})}{|\Gamma(\nu + \frac{1}{2})|}.$$

To prove this we make the substitution  $u = t/z + 1$  in (13) and obtain

$$(14) \quad K_{\nu}(z) = \left( \frac{\pi}{2z} \right)^{1/2} \frac{e^{-z}}{\Gamma(\nu + \frac{1}{2})} \int_0^{\infty} e^{-t} t^{\nu-1/2} \left( 1 + \frac{t}{2z} \right)^{\nu+1/2} dt.$$

Hence

$$|K_{\nu}(z)| \leq \left( \frac{\pi}{2z} \right)^{1/2} \frac{e^{-z}}{|\Gamma(\nu + \frac{1}{2})|} \int_0^{\infty} e^{-t} t^{\operatorname{Re} \nu - 1/2} \left( 1 + \frac{t}{2z} \right)^r dt.$$

Expanding the  $r$ th power by the binomial theorem, we obtain the result stated, since  $K_{-\nu}(z) = K_{\nu}(z)$  by (2).

LEMMA 3. If  $0 \leq \nu \leq \frac{1}{2}$  and  $z > 0$ , then

$$0 < \left( \frac{2z}{\pi} \right)^{1/2} e^z K_{\nu}(z) \leq 1,$$

$$1 - \frac{1-4\nu^2}{8z} \leq \left( \frac{2z}{\pi} \right)^{1/2} e^z K_{\nu}(z) \leq 1 - \frac{1-4\nu^2}{8z} + \frac{(1-4\nu^2)(9-4\nu^2)}{2!(8z)^2},$$

and so on.

To prove this, let  $h$  be a fixed positive integer. Then, if  $t > 0$ , we have by Taylor's theorem

$$\left( 1 + \frac{t}{2z} \right)^{\nu-1/2} = \sum_{j=0}^{h-1} \binom{\nu-1/2}{j} \left( \frac{t}{2z} \right)^j + \theta_t \binom{\nu-1/2}{h} \left( \frac{t}{2z} \right)^h,$$

where  $0 < \theta_t < 1$ . Substituting this in (14), we get

$$\begin{aligned} \left( \frac{2z}{\pi} \right)^{1/2} e^z K_{\nu}(z) &= 1 + \sum_{j=1}^{h-1} \frac{(4\nu^2-1)(4\nu^2-3^2)\dots(4\nu^2-\{2j-1\}^2)}{j!(8z)^j} + \\ &\quad + \theta \frac{(4\nu^2-1)(4\nu^2-3^2)\dots(4\nu^2-\{2h-1\}^2)}{h!(8z)^h}, \end{aligned}$$

where  $0 < \theta < 1$ . Since  $0 \leq \nu \leq \frac{1}{2}$ , the last term has the sign of  $(-1)^h$  and so we get the results stated by taking  $h = 1, 2, \dots$

§ 3. Proofs of the theorems. We begin with the first part of Theorem 1. Suppose  $\operatorname{Re} s > 1$ . From (1) we have

$$\begin{aligned} (15) \quad \alpha^s Z(s) &= \frac{1}{2} \sum' \{(m+yn)^2 + k^2 n^2\}^{-s} \\ &= \frac{1}{2} \sum_{m \neq 0} m^{-2s} + \frac{1}{2} \sum_{n \neq 0} \sum_{m=-\infty}^{\infty} \{(m+yn)^2 + k^2 n^2\}^{-s} \\ &= \zeta(2s) + \sum_{n=1}^{\infty} \sum_{m=-\infty}^{\infty} \{(m+yn)^2 + k^2 n^2\}^{-s}, \end{aligned}$$

where  $y = b/(2a)$ . Now for fixed  $k$  and  $s$  the right-hand side of (15) is a function of  $y$  with period 1 and a bounded derivative. Thus

$$(16) \quad \alpha^s Z(s) = \frac{1}{2} A_0 + \sum_{r=1}^{\infty} A_r \cos(2\pi r y),$$

where

$$A_r = 2 \int_0^1 \left( \zeta(2s) + \sum_{n=1}^{\infty} \sum_{m=-\infty}^{\infty} \{(m+xn)^2 + k^2 n^2\}^{-s} \right) \cos(2\pi r x) dx.$$

In particular

$$\begin{aligned} (17) \quad \frac{1}{2} A_0 &= \zeta(2s) + \sum_{n=1}^{\infty} \sum_{m=-\infty}^{\infty} n^{-1} \int_{\frac{m}{n}}^{\frac{m+n}{n}} (u^2 + k^2 n^2)^{-s} du \\ &= \zeta(2s) + \sum_{n=1}^{\infty} \int_{-\infty}^{\infty} (u^2 + k^2 n^2)^{-s} du \\ &= \zeta(2s) + \sum_{n=1}^{\infty} (kn)^{-2s+1} \int_{-\infty}^{\infty} (u^2 + 1)^{-s} du \\ &= \zeta(2s) + k^{1-2s} \zeta(2s-1) \int_0^1 v^{s-3/2} (1-v)^{-1/2} dv \\ &= \zeta(2s) + k^{1-2s} \zeta(2s-1) \frac{\Gamma(s-\frac{1}{2})\Gamma(\frac{1}{2})}{\Gamma(s)}. \end{aligned}$$

Also, if  $r > 0$ , we have (putting  $m = qn + l$ )

$$\begin{aligned}
 A_r &= 2 \sum_{n=1}^{\infty} \sum_{m=-\infty}^{\infty} \frac{1}{n} \int_m^{m+n} (u^2 + k^2 n^2)^{-s} \cos \frac{2\pi r(u-m)}{n} du \\
 &= 2 \sum_{n=1}^{\infty} \frac{1}{n} \sum_{l=1}^n \sum_{q=-\infty}^{\infty} \int_{qn+l}^{(q+1)n+l} (u^2 + k^2 n^2)^{-s} \cos \frac{2\pi r(u-l)}{n} du \\
 &= 2 \sum_{n=1}^{\infty} \frac{1}{n} \sum_{l=1}^n \int_{-\infty}^{\infty} (u^2 + k^2 n^2)^{-s} \cos \frac{2\pi r(u-l)}{n} du \\
 &= 2 \sum_{n=1}^{\infty} \frac{1}{n} \sum_{l=1}^n \cos \left( \frac{2\pi r l}{n} \right) \int_{-\infty}^{\infty} (u^2 + k^2 n^2)^{-s} \cos \left( \frac{2\pi r u}{n} \right) du \\
 &= 2 \sum_{n|r} \left( \frac{2\pi r}{n} \right)^{2s-1} \int_{-\infty}^{\infty} \frac{\cos v}{\{v^2 + (2\pi k r)^2\}^s} dv.
 \end{aligned}$$

Using (12), we get (for  $r$  positive)

$$\begin{aligned}
 (18) \quad A_r &= 2(2\pi r)^{2s-1} \sigma_{1-2s}(r) \frac{2\pi^{1/2} K_{s-1/2}(2\pi k r)}{\Gamma(s)(4\pi k r)^{s-1/2}} \\
 &= 4 \frac{\pi^s}{\Gamma(s)} k^{1/2-s} r^{s-1/2} \sigma_{1-2s}(r) K_{s-1/2}(2\pi k r).
 \end{aligned}$$

Inserting (17) and (18) in (16) and recalling that  $y = b/(2a)$ , we get (3), the first assertion of Theorem 1.

To prove the second part of Theorem 1 we first note that if  $s$  is in some bounded subset  $B$  of the complex plane and  $z$  is positive, then by the first part of Lemma 2

$$|K_{s-1/2}(z)| \leq e^{-z} \left( \frac{\pi}{2z} \right)^{1/2} P_B \left( \frac{1}{z} \right),$$

where  $P_B$  is a polynomial with positive coefficients depending only on  $B$ . Thus the sum in (4) converges uniformly in  $B$ . Since each term is an entire function of  $s$ , it follows that  $H(s)$  is an entire function. Now  $K_r(z)$  is an even function of  $r$  and

$$n^{-\nu/2} \sigma_{\nu}(n) = n^{-\nu/2} \sum_{d|n} d^{\nu} = n^{-\nu/2} \sum_{d|n} (n/d)^{\nu} = n^{\nu/2} \sigma_{-\nu}(n).$$

Thus each term of the sum in (4) is unchanged if we replace  $s$  by  $1-s$ . Hence  $H(s) = H(1-s)$ .

To prove Theorem 2 we first remark that if  $0 \leq \nu \leq 1$ , then

$$\begin{aligned}
 n^{\nu/2} \sigma_{-\nu}(n) &= \frac{1}{2} n^{\nu/2} \sum_{d|n} \left\{ d^{-\nu} + \left( \frac{n}{d} \right)^{-\nu} \right\} = \frac{1}{2} \sum_{d|n} \left\{ \left( \frac{n^{1/2}}{d} \right)^{\nu} + \left( \frac{d}{n^{1/2}} \right)^{\nu} \right\} \\
 &\leq \frac{1}{2} \sum_{d|n} \left\{ \frac{n^{1/2}}{d} + \frac{d}{n^{1/2}} \right\} = n^{1/2} \sigma_{-1}(n).
 \end{aligned}$$

Using this and the second part of Lemma 2, we get

$$\begin{aligned}
 (19) \quad &|4n^{s-1/2} \sigma_{1-2s}(n) \cos(n\pi b/a) K_{s-1/2}(2\pi kn)| \\
 &\leq 4n^{1/2} \sigma_{-1}(n) \frac{e^{-2\pi kn}}{(4kn)^{1/2}} \cdot \frac{\Gamma(s)}{|\Gamma(s)|} = \frac{2\Gamma(s)}{k^{1/2} |\Gamma(s)|} \sigma_{-1}(n) e^{-2\pi kn},
 \end{aligned}$$

provided  $\frac{1}{2} \leq \sigma = \text{Re } s \leq 1$ . In view of (4), this proves the first part of Theorem 2. To prove the second part, note that if  $n \geq 2$ , we have

$$\sigma_{-1}(n) = \sum_{d|n} d^{-1} \leq 1 + \frac{1}{2} (n-1) \leq \frac{3}{2} (n-1),$$

with equality only when  $n = 2$ . Thus

$$\sum_{n=2}^{\infty} \sigma_{-1}(n) e^{-2\pi kn} < \frac{3}{2} \sum_{n=2}^{\infty} (n-1) e^{-2\pi kn} = \frac{3e^{-4\pi k}}{2(1-e^{-2\pi k})^2}.$$

Using (19) for  $n = 1$ , we get the second part of Theorem 2.

Finally we turn to Theorem 3. Setting  $s = \frac{1}{2}$  in (7) and using Lemma 3 and the preceding inequality, we have

$$\begin{aligned}
 (20) \quad &\left| H \left( \frac{1}{2} \right) \right| \leq 4K_0(2\pi k) + \frac{3e^{-4\pi k}}{k^{1/2}(1-e^{-2\pi k})^2} \\
 &\leq \frac{2e^{-2\pi k}}{k^{1/2}} \left\{ 1 - \frac{1}{16\pi k} + \frac{9}{512\pi^2 k^2} + \frac{3e^{-2\pi k}}{2(1-e^{-2\pi k})^2} \right\} < \frac{2e^{-2\pi k}}{k^{1/2}},
 \end{aligned}$$

provided  $k \geq \sqrt{3}/2$ , say. Thus it remains to evaluate the sum of the first two terms on the right-hand side of (3) or (5) at the point  $s = \frac{1}{2}$ . Let us rewrite (5) as

$$(21) \quad k^{-1/2} (ak/\pi)^s \Gamma(s) Z(s) = f(s) + f(1-s) + H(s),$$

where

$$f(s) = k^{-1/2} (k/\pi)^s \Gamma(s) \zeta(2s) = \zeta(2s) \exp \left\{ \left( s - \frac{1}{2} \right) \log \frac{k}{\pi} + \log \frac{\Gamma(s)}{\Gamma(\frac{1}{2})} \right\}.$$

Now for  $|s - \frac{1}{2}| < \frac{1}{2}$  we have the power series

$$\begin{aligned} \log \frac{\Gamma(s)}{\Gamma(\frac{1}{2})} &= \frac{\Gamma'(\frac{1}{2})}{\Gamma(\frac{1}{2})} \left( s - \frac{1}{2} \right) + \sum_{j=2}^{\infty} \frac{(s - \frac{1}{2})^j}{j!} \sum_{l=0}^{\infty} \frac{(-1)^l (j-1)!}{(l + \frac{1}{2})^l} \\ &= (\gamma + \log 4) \left( \frac{1}{2} - s \right) + \sum_{j=2}^{\infty} \frac{(2^j - 1) \zeta(j)}{j} \left( \frac{1}{2} - s \right)^j. \end{aligned}$$

Since the Laurent series for  $\zeta(2s)$  around  $\frac{1}{2}$  is

$$\zeta(2s) = \frac{1}{2(s - \frac{1}{2})} + \gamma + \dots,$$

$f(s)$  has the Laurent series

$$\begin{aligned} f(s) &= \left\{ \frac{1}{2(s - \frac{1}{2})} + \gamma + \dots \right\} \left\{ 1 + \left( -\gamma + \log \frac{k}{4\pi} \right) \left( s - \frac{1}{2} \right) + \dots \right\} \\ &= \frac{1}{2(s - \frac{1}{2})} + \frac{1}{2} \left( \gamma + \log \frac{k}{4\pi} \right) + \dots, \end{aligned}$$

valid for  $|s - \frac{1}{2}| < \frac{1}{2}$ . Thus the "value" of  $f(s) + f(1-s)$  at the removable singularity at  $s = \frac{1}{2}$  is

$$\gamma + \log k - \log 4\pi.$$

Substituting  $s = \frac{1}{2}$  in (21) and using (20), we obtain Theorem 3.

Added in proof (Sept. 1, 1964):

Recently R. A. Rankin has called our attention to the fact that the main assertion of Theorem 1, namely the validity of formulas (3) and (4), was actually proved on p. 157 of his paper, *A minimum problem for the Epstein zeta function*, Proc. Glasgow Math. Assoc. 1 (1953), pp. 149-158.

In a forthcoming paper Marc E. Low has proved the result envisaged in the last paragraph of §1, that is, he has shown that if  $k < 7.0554$ , then  $Z(s)$  is negative throughout  $(0, 1)$ . He did this by showing that if  $k < 4\pi e^{-\gamma}$ , then (in the notation introduced above) the series for  $f(s) + f(1-s)$  in powers of  $(s - \frac{1}{2})^2$  has negative coefficients and so takes its maximum on  $(0, 1)$  at  $s = \frac{1}{2}$ . Thus, as mentioned in §1, it follows by superposition that the Dedekind zeta function of any imaginary quadratic field with discriminant between  $-3$  and  $-199$  inclusive is negative throughout  $(0, 1)$ . By using similar methods in conjunction with a high-speed computer Low has extended this last assertion to all imaginary quadratic fields

with discriminants between  $-3$  and  $-400000$ . A particularly interesting case is the imaginary quadratic fields with discriminant  $-115147 = -113 \cdot 1019$ , for in this case the Dedekind zeta function takes a negative value very close to zero when  $s = \frac{1}{2}$ .

## References

- [1] S. Chowla and A. Selberg, *On Epstein's zeta function* (I), Proc. Nat. Acad. Sci. U.S.A. 35 (1949), pp. 371-374.
- [2] Max Deuring, *Imaginäre quadratische Zahlkörper mit der Klassenzahl 1*, Math. Zeitschr. 37 (1933), pp. 405-415.
- [3] — *Zetafunktionen quadratischer Formen*, J. reine angew. Math. 172 (1935), pp. 226-252.
- [4] — *On Epstein's zeta function*, Ann. of Math. (2), 38 (1937), pp. 585-593.
- [5] A. Gray and G. B. Mathews, *A treatise on Bessel functions and their applications to physics*, Second edition, London 1922.
- [6] L. J. Mordell, *The zeta functions arising from quadratic forms and their functional equations*, Quart. J. Math. (Oxford), 1 (1930), pp. 77-101.
- [7] — *On the Riemann hypothesis and imaginary quadratic fields with a given class number*, J. London Math. Soc. 9 (1934), pp. 289-298.
- [8] J. Barkley Rosser, *Real roots of Dirichlet L-series*, Bull. Amer. Math. Soc. 55 (1949), pp. 906-913.
- [9] — *Real roots of real Dirichlet L-series*, J. Research Nat. Bur. Standards 45 (1950), pp. 505-514.
- [10] G. N. Watson, *A treatise on the theory of Bessel functions*, Cambridge 1922.

Reçu par la Rédaction le 20.1.1964